Pre-Calculus - Honors Lesson 16
Worksheet #16 | Answers

1) 2 - 3.\3 2)1 +2:N2  3)0+5~3 4) -1 - 6;

5)8 + 4 6) -3 -11; 7)16 + 40; + 25:2 = -9 + 40

8) 4 o(4+5:)=16 +20; = 16 + 20/
4-5 (4+5) 16 - 25:? 41

9) x=-8+ V64 - 416)-3)=-8+ V64 + 192 = -8 + V256 = -8 + 16 =

32 32 32 32
;2_4:_3__.2-%:%
32 32
10) x = 10 + V100 - 4(1X22) = 10 + Y100 - 88 = 10 + VI? = 10 + 2V3
2 2 2 2
=5++3
11) x = -14 + V196 - 4(1X(44) = -14 + V196 - 176 = -14 + V20 =
2 2 2
-14+ 265 = -7+ 6

2

12) -9 + 12x + 3 =0
x = -12 + V144 - 4(-9X3) = -12 + V144 + 108 = -12 + 252 =
-18 -18 -18
x=z=-12+ 67 =27
-18 3 3

13) sum = -16 product = 64 + 9 =73 f(x) = x* + 16x + 73
14) sum = 0 product = 49 f(x) = x* + 49
15) sum = 12 product = 36 - 5 = 31 f(x) = x* - 12x + 31



